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101|R#A7 L 748 284 464| Kg |HEB 1,080 72|EE 3,780 216
102|357 L 1,452 1,452 Kg BIE 1,566 555
111|&EEF £ 613 80 533| Kg |&%0 1,080 324|F )1l 1,728 432
113|RAV S 45 4 41| Kg |EE 2,376 864|BHR 5,076 2,160
114|B5EFE 138 138| Kg e 2,916 1,944
15[ 1= 1 1 Kg |EfE 1,620
117[1E 506 203 303 Kg |B)I 864 540|FfE 3,780 540
121|rblE &€ 68 49 19| Kg |EE 1,944 324|FfE 1,944 1,728
134[#= = 467 201 266| Kg |&B - = 2,500 430|185 2,808 1,404
137|&5E.3. < 30 26 4l Kg |BER 3,240 3,024| &R 3,564 2,700
140(5 I 14 14| Kg sl 70,200 36,000
147|EZ O 89 89| Kg |EE 5,400 R 9,000 2,484
158|EIEA A LS 359 104 255| Kg |ERS 1,188 216|EERE 2,322 756
201{Lvb L 87 87| Kg AR 648 324
203|/hd L 128 128 Kg FfE 459 270
205|3.3 L 96 96| Kg BIE 918 810
206| = 1F 195 195 Kg Ex) 1,080 540
207|= A K 1,177 1177| Kg imE 4,186 540
208| Mo % 524 524 Kg R 1,728 540
2094 B & L 88 88| Kg =5 675 648
212|&5E.3 Y 330 330| Kg E)I| - &4 2,214 1,100
251|< A%< A 177 177 Kg [dbi 4,644
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254|ED12ELCA 403 59 344 Kg |2 1,382 1,134(m% 1,998 1,166
3031 A 7Ly 19 191 Kg BJE 756 423
305[£Aah 0% 3 3] Kg FE 3,888

306|L e k) 18 12 6| Kg [EE 540 432\ 864

315|7: B9 6 34 34 Kg = I 3,240 2,160
319|h o 426 426 Kg £JE - AH 2,484 270
332|113 WA =EF 210 210 Kg Bl = 2,916 1,728
3bl{HHV 10 10| Kg = 1,728

35411FxE<Y 89 35 b4 Kg [FE 1,728 1,296|F% 2,160 1,134
355(mp Y 96 96 Kg A/ - P E 1,728 600
356(L L& 60 10 50 Kg [ZA0 540 SER 1,512 864
357|7RE 51 511 Kg = 4,104 1,080
358|KE 13 5 8| Kg [EA 1,944 FAN 3,456 2,160
362|Hh & 42 42|  Kg INZ 2,808 1,620
401|H W 50 501 Kg FAN 2,376 972
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BERbBAZLD 26 26| Kg 2P 1,112
AN 120 120] Kg i 1,400 799
AERAT AT 495 495 Kg 2P 4,320 1,080
BRCZEZV 11 11| Kg H[E 1,560

JE WA AE 10 10| Kg Bl = 350

AT 134 134] Kg 2Pl 3,771 1,300
RN 10 10| Kg Bl = 4,000

AR 20 201 Kg E2p] 2,430
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70110 BA 104 104 Kg s 1,674
71019 2 ®HA0F 87 87 Kg BRS 1,728 783
713|L L» HHF 14 14] Kg bF 1,144
BlEFAI L 118 118] Kg SR 1,998 810
755|FH&» C 23 23] Kg EE 803 741
7611 b BHAEL 6 6] Kg AL 1,980
801|BHL =T 159 159 Kg BE - EA 1,890 1,053
802 1 30 301 Kg 2yl 1,912 1,404
805 = 1E 492 4921 Kg bF 1,080 594
807 [1BHDF 20 201 Kg blo ] 4,104
810|FAKF 229 2291 Kg bF 3,480 2,052
8lh|—W T AX 23 23] Kg blo ] 1,728
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